Semi Monthly Salary $1500; 10-day pay period: 3 days of 100% Income Replacement,

VSDP
Example A 5 days leave used, and 2 days worked.

1. Calculate the VSDP Benefits due the employee (no change in method).
Cred Comp - 31500 a. $1500 divided by 10 working days in pay period = $150 per day.

REGULAR PAY 3 days multiplied by $150 per day = $450
b.  Use Special Pay 061 (VSDP BEN) to pay the employee $450 on HUCO1.

$1050
M 2. Calculate Regular Pay due the employee (no change in method).

VSDg 425 el a. $150 per day
7 days multiplied by $150 per day = $1050
b. Key $1050 on HUAO3 to pay the employee Regular Pay

In this case, Creditable Compensation calculated on the pay transactions entered

matches the Semi-Monthly Salary ($1500) (the puzzle pictured to the left is
complete). There is no need for deduction overrides and this item will not

appear on Report 869.



